











> 8 8 = 2
1 have completed every & o ° 5 5, b g
. . g0 o ) s 8 o, =
assignment for this class g & 5 R 2 2 o & 2
SOfiZF ©n < < [a) [alY) Z ~ =
Frequency 80 43 15 3 11 152
Cumulative Percent 52.6 28.3 9.9 2.0 7.2 100
o o Q
g | &g 5 5 & & | g
£ &b &b 2 L5 o & 5
1 enjoy this class @ < < A Ao Z P =
Frequency 48 70 21 2 11 152
Cumulative Percent 31.6 46.1 13.8 1.3 7.2 100
o o Q
By | g 2 X .
S . (] (]
1 feel challenged by this g & 5 3 2 g o & £
class ©n < < [a) [alY) Z ~ =
Frequency 19 83 33 6 11 152
Cumulative Percent 12.5 54.6 21.7 3.9 7.2 100
o o Q
s [p |5 | 5% | £ |-
S . . (] (]
1 feel that the professor is g & 5 3 3 2 ° % g
accessible @ < < A A« Z =
Frequency 60 70 10 1 11 152
Cumulative Percent 39.5 46.1 6.6 7 7.2 100
. 2 8 g = 2
1 feel my grade reflects the Do g 5 5 s _
amount of work I put into g & 5 2 P g o & g
this class @ < < A A« Z =
Frequency 58 75 5 3 11 152
Cumulative Percent 38.2 49.3 33 2.0 7.2 100
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o o Q
g | & 5 5 & & | g
£ &b b .4 2= ° o 5
1 like science @ < < A Ao Z P =
Frequency 47 64 23 6 12 152
Cumulative Percent 309 42.1 15.1 3.9 7.9 100
2 2 2 2
Before taking this class, how 8 2.8 B3 3
. . . ~ =
comfortable were you with this § § g § 15 § ° 2
subject? > O ©n O Z O Z =
Frequency 19 91 30 12 152
Cumulative Percent 9.9 47.6 15.7 7.9 100
> 2
g |z 3 2
3 E o = 2
25 - & 3
How likely are you to recommend g g5 15 o 2
this class to another student? > @ - & & =
Frequency 69 56 15 12 152
Cumulative Percent 45.4 36.8 9.9 7.9 100
2
=
]
=
8 -
I am aware of the Undergraduate Research 3 ° ° g
Office at Buffalo State a & & =
Frequency 68 72 12 152
Cumulative Percent 44.7 47.4 7.9 100
2
=
]
o
o —_
I am the first person in my family to go to 8 ° ° £
college. > & & =
Frequency 28 110 14 152
Cumulative Percent 14.7 57.6 7.3 100
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2
=
a —
1 know where the Science and Mathematics 2 ° o & g
Complex (SAMC) is at Buffalo State a & s =
Frequency 118 20 14 152
Cumulative Percent 77.6 13.2 9.2 100
2
=
a —
I am aware of the Whitworth Ferguson 3 ° o 8 g
Planetarium at Buffalo State a & s =
Frequency 80 56 16 152
Cumulative Percent 52.6 36.8 10.5 100
2
=
a —
I have attended a meeting of Geology Club, 5 o o & £
Astronomy Club, or both > z Z &=
Frequency 10 127 16 152
Cumulative Percent 6.6 83.6 9.9 100
2
5
Did you know that Buffalo State offered 4 o o Z £
majors in Geology and Earth Science? a & s =
Frequency 123 14 14 152
Cumulative Percent 76.3 14.5 9.2 100
2
Did you know that Buffalo State offered g _
minors in Geology, Astronomy, and 3 ° ° % g
Environmental Science ~ z Z =
Frequency 116 22 14 152
Cumulative Percent 76.3 14.5 9.2 100
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B.2: Frequencies, Fall Cohort Responses

Appendix B
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> 2
S g 2 g
) . . . = < 2 2
After taking this class, how likely | = g > = 3
2 £C ~ =
are you to take another Geology 5 g~ 15 o 2
or Earth Science class? > @ - & & =
Frequency/Percent 19 33 38 10 100
2 2 2 2
g 58 g g
. . g = & g >
At this point in the semester, how S g &S S E _
comfortable are you with this § § g § 15 § ° £
subject > O ©n O Z O Z Sl
Frequency/Percent 30 54 6 10 100
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Appendix B

B.3: Frequencies, Faculty Survey

[e10L

100

oA0qe
oy} Jo SuUoON

Wo)SAS
Ie[og oy T,
ceT SAD

16.7

Awouonsy
K1030nponuy
1€1 S5

16.7

qeT 09D
K1030nponuy

€01 S95

333

£30]00D
K1010nponuy
101 S5

333

at Buffalo State. Circle all
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I am accessible to
students.

Strongly
Agree

Agree

Disagree

Disagree
Strongly

No

Response
Total

Frequency

(=)

Cumulative Percent

50

50

(=)

0 100

I am able to connect my
research with this class.

Strongly
Agree

Agree

Disagree

Disagree
Strongly

No

Response
Total
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Frequency

(=)

(=)

Cumulative Percent

50

50

0 100

Students seem actively
engaged in this class.

Strongly
Agree

Agree

Disagree

Disagree
Strongly

No

Response
Total

Frequency

(=)

(=)

Cumulative Percent

100

0 100

1 assign assignments that
fairly assess the students’
work in class.

Strongly
Agree

Agree

Disagree

Disagree
Strongly

No

Response
Total

Frequency

(=)

Cumulative Percent

50

50

(=)

0 100

1 like science.

Strongly
Agree

Agree

Disagree

Disagree
Strongly

No

Response
Total

Frequency

N

(=)

Cumulative Percent

100

0 100




80

1 feel comfortable using o ° o 5 %
multiple pedagogical g o 5 5 El g _
(3] (3]

techniques in the 25 5 3 g g ° E £
introductory classroom. @ < < A Ao & =
Frequency 1 1 0 0 2
Cumulative Percent 50 50 0 0 100

=} o0 on = —_
1 like teaching 2 E) E) 3 g 2 ° % g
introductory level courses. | @ < < A Ao Z P =
Frequency 1 1 0 0 2
Cumulative Percent 50 50 0 0 100

Q

=) &0 on = —_
I care about my students’ 2 E) E) 3 g 2 ° % g
success in my class. @ < < A Ao Z P =
Frequency 2 0 0 0 2
Cumulative Percent 100 0 0 0 100
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Appendix C

C.1: Satisfaction Related to Professor

Professor a

Introductory Geology A
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2 8 =8
en = on =
1 enjoy this class @ < < A @A =
Frequency 4 17 8 0 29
Cumulative Percent 13.8 58.6 27.6 0.0 100
2 8 =8
5D £ 5 H
1 feel challenged by this class @ < < A @A =
Frequency 5 18 6 0 29
Cumulative Percent 17.2 62.1 20.7 0.0 100
2 8 =8
5D £ 5 H
1 feel that the professor is accessible @ < < A @A =
Frequency 10 17 2 0 29
Cumulative Percent 34.5 58.6 6.9 0.0 100
2 8 =8
: : g8 8 o g o 3
1 feel my grade reflects the amount of work g & 5 2 g.2 =
1 put into this class. 7 < < A s =
Frequency 8 18 2 1 29
Cumulative Percent 27.6 62.1 6.9 34 100
2 8 =8
5D £ 5 H
5 & on = s = o
1 like science. @ < < A @A =
Frequency 8 13 5 3 29
Cumulative Percent 27.6 44.8 17.2 10.3 100
N Minimum | Maximum | Mean Std. -
Deviation
Satisfy
Frequency 29 1.00 1.71 1.1872 0.17539
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2 8 =8
en = on =
1 enjoy this class @ < < A @A =
Frequency 3 9 6 1 19
Cumulative Percent 15.8 47.4 31.6 53 100
2 8 =8
5D £ 5 H
1 feel challenged by this class @ < < A @A =
Frequency 1 12 3 3 19
Cumulative Percent 53 63.2 15.8 15.8 100
2 8 =8
5D £ 5 H
1 feel that the professor is accessible @ < < A @A =
Frequency 3 13 3 0 19
Cumulative Percent 15.8 68.4 15.8 0.0 100
2 8 =8
: , 23 3 > g5 3
1 feel my grade reflects the amount of work g & 5 @ g.2 2
1 put into this class. 7 < < A s =
Frequency 8 11 0 0 19
Cumulative Percent 42.1 57.9 0.0 0.0 100
2 8 =8
5D £ 5 H
5 & on = s = o
1 like science. @ < < A @A =
Frequency 7 9 2 1 19
Cumulative Percent 36.8 47.4 10.5 53 100
N Minimum | Maximum | Mean Std. -
Deviation
Satisfy
Frequency 19 1.00 1.43 1.1429 13469
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Professor a

Introductory Astronomy
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2 8 =8
en = on =
1 enjoy this class @ < < A @A =
Frequency 18 30 7 2 57
Cumulative Percent 31.6 52.6 12.3 3.5 100
= 5] =3
5D £ 5 H
1 feel challenged by this class @ < < A @A =
Frequency 9 35 11 2 57
Cumulative Percent 15.8 61.4 19.3 3.5 100
2 8 =8
5D £ 5 H
1 feel that the professor is accessible @ < < A @A =
Frequency 25 28 3 1 57
Cumulative Percent 439 49.1 53 1.8 100
2 8 =8
— —
. : ) 8 ) g o 5
1 feel my grade reflects the amount of work g & 5 2 g.2 =
1 put into this class. 7 < < A s =
Frequency 25 29 1 2 57
Cumulative Percent 439 50.9 1.8 3.5 100
= 5] = 3
5D £ 5 H
5 & on = s = o
1 like science. @ < < A @A =
Frequency 26 23 7 1 57
Cumulative Percent 45.6 40.4 12.3 1.8 100
N Minimum | Maximum | Mean Std. -
Deviation
Satisfy
Frequency 57 1.00 1.57 1.1053 15632
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2 8 =8
en = on =
1 enjoy this class @ < < A @A =
Frequency 8 15 1 0 24
Cumulative Percent 333 62.5 4.2 0.0 100
2 8 =8
5D £ 5 H
1 feel challenged by this class @ < < A @A =
Frequency 4 13 7 0 24
Cumulative Percent 16.7 54.2 29.2 0.0 100
2 8 =8
en = on =
1 feel that the professor is accessible @ < < A @A =
Frequency 15 9 0 0 24
Cumulative Percent 62.5 37.5 0.0 0.0 100
2 8 =8
: 23 3 ) 2 % =
1 feel my grade reflects the amount of work g & ) 2 2.2 2
1 put into this class. 7 < < A s =
Frequency 12 11 1 0 24
Cumulative Percent 50.0 45.8 4.2 0.0 100
2 8 =8
5D £ 5 H
5 & on = s = o
1 like science. @ < < A @A =
Frequency 6 11 7 0 24
Cumulative Percent 25.0 45.8 29.2 0.0 100
N Minimum | Maximum | Mean Std. -
Deviation
Satisfy
Frequency 24 1.00 1.29 1.0952 .10877
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Professor a

The Solar System
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2 8 =8
5D £ 5 H
1 enjoy this class @ < < A @A =
Frequency 24 10 0 0 34
Cumulative Percent 70.6 294 0.0 0.0 100
2 8 =8
5D £ 5 H
1 feel challenged by this class @ < < A @A =
Frequency 9 17 7 1 34
Cumulative Percent 26.5 50.0 20.6 2.9 100
2 8 =8
en = on =
1 feel that the professor is accessible @ < < A @A =
Frequency 24 9 1 0 34
Cumulative Percent 70.6 26.5 2.9 0.0 100
2 8 =8
: : g8 8 o g o 3
1 feel my grade reflects the amount of work g & 5 2 g.2 =
1 put into this class. 7 < < A s =
Frequency 20 13 1 0 34
Cumulative Percent 58.8 38.2 2.9 0.0 100
2 8 =8
5D £ 5 H
5 & on = s = o
1 like science. @ < < A @A =
Frequency 16 14 3 1 34
Cumulative Percent 47.1 41.2 8.8 2.9 100
N Minimum | Maximum | Mean Std. -
Deviation
Satisfy
Frequency 34 1.00 1.29 1.0588 .07956
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C.2: Chi-Squared Tests
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